Polaris ProFit Roll Cage Adapter Instructions
Qty 1 - 1/4-20 Nut

Qty 1-1/4-20 x 1.75 \J Qty 1 - 1/4-20
Clap Screw NYLOC Nut
Qty 1 - Clamp Qty 1 - Universal
Slider ™ / Clamp

. Insert the 1/4-20 Nut intc the fitted slot on top cf the
Universal Clamp

. Insert the 1/4-20 x 1.75 Cap Screw thru the corre
sponding holes in Clamp Slider and the Universal
Clamp and loosely thread into the 1/4-20 Nut.

. Insert the 1/4-20 x .075 Cap Screw thru the corre
sponding hole on the bracket you wish to use. Then
insert it thru the long slotted hole on the Universal
clamp and loosly tighten into the 1/4-20 NYLOC Nut.
. Fit the lower lip of the Assembled adapter over the
edge of the windshield side of the roll cage, then fit the
slot of the Clamp Slider over the edge on the roof side
of the roll cage.

. Slide the Assembled adapter to the desired position on
the roll cage and tighten the 1/4-20 x 1.75 Cap Screw
to fix in place.

. Adjust the Chosen Bracket to the desired position and
tighten

. Attach the desired Assemble for either the UTV-Tek
Center Mirror or the UTV-Tek Sun Visor.

\

Qty 1 - Universal
Mirror Bracket

Qty 1 - Universal
Visor Bracket

Qty 1-1/4-20 x 0.75
Cap Screw




